

CENTRE: 12 PANVEL

SEAT_NO	NAME OF CANDIDATE	REGN_NO	COLLEGE	MAX/MIN	RESULT	REMARKS
Subjects- 54401:COMMUNICATION SKILL AND ACADEMIC WRITING, 54403:EDUCATIONAL MANAGEMENT, 05:DISSERTATION WORK, 06:INTERNSHIP WORK, Heads- EX:EXTERNAL, IN:INTERNAL, PR:FIELD WORK,						
EX	IN	54401	EX	IN	54403	EX IN 05 PR IN 06
60/24	40/16	100/40 CR6	60/24	40/16	100/40 CR6	200/80 CR12 60/24 40/16 100/40 CR6
-----						
3068791	/GONGE SMITA AKASH SUNITA	21S000799	773 PILLAI'S B.ED PANV	500/		P
029 +	020 +	049 +	024 +	016 +	040 +	076 070 146 035 025 060
GR C*G=CG	C	B	C 6*5=30	D	D	D 6*4=24 A+ A+ A+12*9=108B+ A A 6*8=48
IV:295/500X IV:210.00/30.00=7.00X I:218/400X I:156.00/24.00=6.50X II:181/400 II:114.00/24.00=4.75 III:211/400X III:144.00/24.00=6.00X Total:905/1700 CGPA:24.25/4=6.06						
-----						
3068792	/AMBAT NILAM JANA LADAKU	20130164011242	773 PILLAI'S B.ED PANV	500/		ABS
A	A	000F	A	A	000F	A A 000F
GR C*G=CG	F	F	F	F	F	F F F F F F
IV:0/500 IV: /30.00= I:204/400X I:132.00/24.00=5.50X II:188/400X II:120.00/24.00=5.00X III: /400 III: /24.00= Total: /1700 CGPA: /4=						
-----						
3068793	DE NILANJAN PRADIP KUMAR NINA	20140164014475	773 PILLAI'S B.ED PANV	500/		P
046 +	027 +	073 +	034 +	027 +	061 +	082 080 162 050 + 030 + 080 +
GR C*G=CG	A+	A	A+6*9=54	B+	A	A 6*8=48 O O 12*10=1200 A+ O 6*10=60
IV:376/500X IV:282.00/30.00=9.40X I:258/400 I:192.00/24.00=8.00 II:258/400 II:192.00/24.00=8.00 III:254/400 III:186.00/24.00=7.75 Total:1146/1700 CGPA:33.15/4=8.29						
-----						
3068794	GUPTA AAKASH KUMAR UMASHANKAR SUMAN	21S000800	773 PILLAI'S B.ED PANV	500/		F
030E	020 +	050E	015F	022 +	037F	075E 070E 145E 052 + 030 + 082 +
GR C*G=CG	B	B	B 6*6=36	F	C	F A+ A+ A+12*9=108O A+ O 6*10=60
IV:314/500X IV: /30.00= X I:216/400 I:156.00/24.00=6.50 II:225/400 II:162.00/24.00=6.75 III:223/400X III:150.00/24.00=6.25X Total: /1700 CGPA: /4=						
-----						
3068795	/MOMIN GANIA ANWAR ALI GAUSIA	20160164011110	773 PILLAI'S B.ED PANV	500/		P
024 +	021 +	045 +	025 +	025 +	050 +	065 052 117 024 + 016 + 040 +
GR C*G=CG	D	B	C 6*5=30	D	A	B 6*6=36 A B B+12*7=84D D D 6*4=24
IV:252/500X IV:174.00/30.00=5.80X I:222/400X I:156.00/24.00=6.50X II:185/400X II:114.00/24.00=4.75X III:195/400X III:126.00/24.00=5.25X Total:854/1700 CGPA:22.30/4=5.58						

-----

#:0.229; @:0.5042, 0.5043; \*:0.5045; EX:EXMP. CARRIED; /:FEMALE; AA:ABSENT; ADC: ADMN. CANCELLED; +: MARKS CARRIED;  
 RCC: 0.5050; RR: RESERVED; RPV: PROVISIONAL E: EXEMPTION;  
 OUT OF HUNDRED GRADES ; MARKS IN PERCENTAGE ; GRADE POINTS : O ;80+ ; 10:, A+ ; 70-79.99 ; 9:, A; 60-69.99; 8:, B+ ; 55-59.99 ; 7:  
 B ; 50-54.99 ; 6:, C ; 45-49.99 ; 5:, D ; 40-44.99 ; 4:F(FAIL); 39.99 AND BELOW; 1:

CENTRE: 12 PANVEL

SEAT\_NO NAME OF CANDIDATE REGN\_NO COLLEGE MAX/MIN RESULT REMARKS

Subjects- 54401:COMMUNICATION SKILL AND ACADEMIC WRITING, 54403:EDUCATIONAL MANAGEMENT, 05:DISSERTATION WORK,  
06:INTERNSHIP WORK,  
Heads- EX:EXTERNAL, IN:INTERNAL, PR:FIELD WORK,

EX	IN	54401	EX	IN	54403	EX	IN	05	PR	IN	06
60/24	40/16	100/40	60/24	40/16	100/40	100/40	100/40	200/80	60/24	40/16	100/40
		CR6			CR6			CR12			CR6

3068796 /SHAIKH BADRUNNISA ABDUL REHMAN BILLOUIS 20200164023332 773 PILLAI'S B.ED PANV 500/ P  
044 + 023 + 067 + 037 + 021 + 058 + 078 075 153 024 + 016 + 040 +  
GR C\*G=CG A+ B+ A 6\*8=48 A B B+6\*7=42 A+ A+ A+12\*9=108D D D 6\*4=24

IV:318/500X IV:222.00/30.00=7.40X I:222/400 I:162.00/24.00=6.75 II:214/400 II:150.00/24.00=6.25 III:238/400  
III:174.00/24.00=7.25 Total:992/1700 CGPA:27.65/4=6.91

3068797 /SINHA SOUMITA SUDIPTO SINHA MANJULA 20220164025516 773 PILLAI'S B.ED PANV 500/ P  
048 + 025 + 073 + 043 + 029 + 072 + 081 080 161 048 + 030 + 078 +  
GR C\*G=CG O A A+6\*9=54 A+ A+ A+6\*9=54 O O O 12\*10=1200 A+ A+ 6\*9=54

IV:384/500X IV:282.00/30.00=9.40X I:264/400 I:192.00/24.00=8.00 II:248/400 II:174.00/24.00=7.25 III:261/400  
III:192.00/24.00=8.00 Total:1157/1700 CGPA:32.65/4=8.16

Subjects- 54402:ENVIRONMENTAL EDUCATION, 54403:EDUCATIONAL MANAGEMENT, 05:DISSERTATION WORK, 06:INTERNSHIP WORK,  
Heads- EX:EXTERNAL, IN:INTERNAL, PR:FIELD WORK,

EX	IN	54402	EX	IN	54403	EX	IN	05	PR	IN	06
60/24	40/16	100/40	60/24	40/16	100/40	100/40	100/40	200/80	60/24	40/16	100/40
		CR6			CR6			CR12			CR6

3068798 /TOTALA VIDHI DEEPAK PRANITA 21S000797 68 GCEP, PANVEL 500/ P  
034 031 + 065 027 026 + 053 084 + 082 + 166 + 040 + 029 + 069 +  
GR C\*G=CG B+ A+ A 6\*8=48 C A B 6\*6=36 O O O 12\*10=120A A+ A 6\*8=48

IV:353/500X IV:252.00/30.00=8.40X I:265/400 I:192.00/24.00=8.00 II:224/400 II:162.00/24.00=6.75 III:208/400X  
III:150.00/24.00=6.25X Total:1050/1700 CGPA:29.40/4=7.35

3068799 JAORAWALA BURHANUDDIN ZAINUDDIN TASNEEM 20130164006726 655 VISPUTE 500/ P  
044 034 + 078 038 033 + 071 072 + 065 + 137 + 047 + 031 + 078 +  
GR C\*G=CG A+ O A+ 6\*9=54A O A+6\*9=54 A+ A A 12\*8=96A+ A+ A+ 6\*9=54

IV:364/500X IV:258.00/30.00=8.60X I:275/400 I:204.00/24.00=8.50 II:288/400 II:216.00/24.00=9.00 III:289/400X  
III:216.00/24.00=9.00X Total:1216/1700 CGPA:35.10/4=8.78

#:0.229; @:0.5042, 0.5043; \*:0.5045; EX:EXMP. CARRIED; /:FEMALE; AA:ABSENT; ADC: ADMN. CANCELLED; +: MARKS CARRIED;  
RCC: 0.5050; RR: RESERVED; RPV: PROVISIONAL E: EXEMPTION;  
OUT OF HUNDRED GRADES ; MARKS IN PERCENTAGE ; GRADE POINTS : 0 ;80+ ; 10:, A+ ; 70-79.99 ; 9:, A; 60-69.99; 8:, B+ ; 55-59.99 ; 7:  
B ; 50-54.99 ; 6:, C ; 45-49.99 ; 5:, D ; 40-44.99 ; 4:F(FAIL); 39.99 AND BELOW; 1:

CENTRE: 3 ANDHERI

SEAT_NO	NAME OF CANDIDATE	REGN_NO	COLLEGE	MAX/MIN	RESULT	REMARKS
Subjects- 54401:COMMUNICATION SKILL AND ACADEMIC WRITING, 54404:INCLUSIVE EDUCATION, 05:DISSERTATION WORK, 06:INTERNSHIP WORK, Heads- EX:EXTERNAL, IN:INTERNAL, PR:FIELD WORK,						
EX	IN	54401	EX	IN	54404	EX IN 05 PR IN 06
60/24	40/16	100/40	60/24	40/16	100/40	100/40 200/80 60/24 40/16 100/40
		CR6			CR6	CR12 CR6
4101	/YADAV SUNITA NITESH LALTI			23S000070	323 UDEDU	500/ A
032 +	029 +	061 +	037	033 +	070	089 + 091 + 180 + 050 + 035 + 085 +
GR C*G=CG B	A+	A 6*8=48 A	O	A+6*9=54 O	O	O 12*10=1200 O O 6*10=60
IV:396/500X IV:282.00/30.00=9.40X I:265/400 I:198.00/24.00=8.25 II:256/400X II:192.00/24.00=8.00X III:280/400 III:198.00/24.00=8.25 Total:1197/1700 CGPA:33.90/4=8.48						

-----  
 #:0.229; @:0.5042, 0.5043; \*:0.5045; EX:EXMP. CARRIED; /:FEMALE; AA:ABSENT; ADC: ADMN. CANCELLED; +: MARKS CARRIED;  
 RCC: 0.5050; RR: RESERVED; RPV: PROVISIONAL E: EXEMPTION;  
 OUT OF HUNDRED GRADES ; MARKS IN PERCENTAGE ; GRADE POINTS : O ;80+ ; 10:, A+ ; 70-79.99 ; 9:, A; 60-69.99; 8:, B+ ; 55-59.99 ; 7:  
 B ; 50-54.99 ; 6:, C ; 45-49.99 ; 5:, D ; 40-44.99 ; 4:F(FAIL); 39.99 AND BELOW; 1:

CENTRE: 8 KALYAN

SEAT_NO	NAME OF CANDIDATE	REGN_NO	COLLEGE	MAX/MIN	RESULT	REMARKS
Subjects- 54402:ENVIRONMENTAL EDUCATION, 54403:EDUCATIONAL MANAGEMENT, 05:DISSERTATION WORK, 06:INTERNSHIP WORK, Heads- EX:EXTERNAL, IN:INTERNAL, PR:FIELD WORK,						
EX	IN	54402	EX	IN	54403	EX
60/24	40/16	100/40	60/24	40/16	100/40	100/40
		CR6			CR6	CR12
3068790	/KHAN SADAF ARSHAD KHAN GHAZALA	20220164024688	202 KALYAN	GURUKRUPA	500/	ABS
A	027 + 027F	A	027 +	027F	A	A
GR C*G=CG	F	F	F	F	F	F
IV:117/500X	IV: /30.00=	X I: /400	I: /24.00=	II: /400	II: /24.00=	III: /400
III: /24.00=	Total: /1700	CGPA: /4=				

-----  
 #:0.229; @:0.5042, 0.5043; \*:0.5045; EX:EXMP. CARRIED; /:FEMALE; AA:ABSENT; ADC: ADMN. CANCELLED; +: MARKS CARRIED;  
 RCC: 0.5050; RR: RESERVED; RPV: PROVISIONAL E: EXEMPTION;  
 OUT OF HUNDRED GRADES ; MARKS IN PERCENTAGE ; GRADE POINTS : 0 ;80+ ; 10:, A+ ; 70-79.99 ; 9:, A; 60-69.99; 8:, B+ ; 55-59.99 ; 7:  
 B ; 50-54.99 ; 6:, C ; 45-49.99 ; 5:, D ; 40-44.99 ; 4:F(FAIL); 39.99 AND BELOW; 1: